Milton Math Team Ciphering Practice  #1

A regular polygon has an interior angle of measure 140° and sides of
length 10. What is its perimeter?
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A regular polygon has an interior angle of measure 140” and sides of
length 10. What is its perimeter?
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Find the sum of the roots of 82¥*1 = 6(8%) — 1.
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Find the sum of the roots of 82¥*1 = 6(8%) — 1.
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The polynomial with rational coefficients f{x) = x* + bx® + cx? +
dx + e has roots 3 and 1 — 54, Find f(1).
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The other rects ace V3 and 1150
,C(y);-.(x-J})(xJ?)(x-(l-sz)Xk-('*Fi))

£6) = (x’-s)[(g-ns-z)(x'-r-az )} -

£00)= (1-3) (=15 )1-1-50))

= Ca)(si)(-si

|
F2)-a5:t) = |- 59|

I




Milton Math Team Ciphering Practice #5

Find all values of x for which x? sinx — 72 sinx — 2x% + 2mw? > 0.
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Find all values of x for which x%sinx — w2 sinx — 2x% + 2w > 0.
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There are three distinct integers x < y < z, each greater than 2005,
such that their mean, median, and range are equal. Find the smallest

possible value of z,
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There are three distinet integers x < ¥ < z, each greater than 2005,
such that their mean, median, and range are equal. Find the smallest
possible value of z.
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If Fix)=x2 +2x + 2 and g(f(x)) = 2x2 + 4x + 1, then find g(7). | If f(x) = x2 + 2x + 2 and g(f(x)) = 2x? + 4x + 1, then find g(7).
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What is the sum of all the distinct factors of 35997 | What is the sum of all the distinct factors of 35997

D euonce ot spuas

3597= 360~ 1 %ot

o - (* 4

(¢o-1)(co+1)
(50)(¢1)

i

i

H

Distnct Factows are l) §7J 3 /J~ 3517

[sum 'S 3?520/




Milton Math Team Ciphering Practice #9 Milton Math Team Ciphering Practice #9

Convert the hexadecimal number AD 14,4 to base 8. Convert the hexadecimal number AD 145 to base 8.
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Let k be a real number such that x? + xv20 -~ k = 0. If k is chosen
from the interval [-7, —2], then what is the probability that the roots
of the equation are real?
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Let k be a real number such that x? + x+/20 — k = 0. If k is chosen
from the interval [ -7, —2], then what is the probability that the roots
of the equation are real?




